EERREMSHEE-4V VT HRE EHLAREFE 120)ER
($M2E10A28~10H 238 Ej#)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BIESS | ERRERAEE (1 Sv/h)
HE NE S
TR AT X5 NEFZ FJ a 50cm (PR-4FBDFEHIE) Bz
m e %110
RERR FERER
50cm 0.07 0.07
YAV IWRR—YRI5EIE G
im 0.07 0.07
50cm 0.07 0.07
) LDOFHEES
im 0.07 0.07
50cm 0.08 0.08
RIZLIZE S
im 0.08 0.08
50cm 0.06 0.06
HWENREEREES
im 0.06 0.06
50cm 0.07 0.07
108128 BIGRAIGES
im 0.08 0.08
50cm 0.07 0.07
BIGEYEIES
im 0.07 0.07
50cm 0.06 0.06
wem LEAR |HOFREEHLE [ EiiE AL RIEE = 15
im 0.06 0.06
50cm 0.08 0.08
[E 3R AIEE 5
im 0.08 0.08
50cm 0.08 0.08
KEEEIS
im 0.08 0.08
50cm 0.07 0.08
At EEES
im 0.08 0.08
50cm 0.07 0.07
AR—YA R RIGEIE
im 0.06 0.07
108148 ]
50cm 0.07 0.07
S=Z BMILIGEEG
im 0.07 0.07
50cm 0.06 0.06
BAFRIGEHS
im 0.06 0.06
50cm 0.12 0.11
TEIRS
im 0.12 0.11
'EM EHAR  |FEAE 108158 S
50cm 0.11 0.09
Tk
im 0.10 0.09
50cm 0.09 0.09
BT EFRAE |ANEBNE 10850
im 0.10 0.09
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EERREMSHEE-4V VT HRE EHLAREFE 120)ER
($M2E10A28~10H 238 Ej#)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE N EAM (RF NI

BESS | ZHRERATE (1 Sv/h)
. NEES
FHETAT K4 INAETL BZ | soom | (B-amOFHE) =
m | sE | #nmE
FEER RERR
50cm 0.15 0.18
=T EBEAR | NRNESHAE 108198
1m 0.15 0.17
50cm 0.13 0.14
DAVRYRIG-TEEEY DILEG
1m 0.13 0.13
50cm 0.12 0.12
=T EBAR |HEAR 10A9H HOHBRELRG bU-IHFDLEG
1m 0.12 0.12
50cm 0.12 0.12
WILWDEE
1m 0.12 0.12
50cm 0.09 0.09
=T EBRAR  |FHPRAE 10858
1m 0.08 0.08
50cm 0.10 0.1
=T EBRAR | SEFEHLE 1081580
1m 0.10 0.10
50cm 0.10 0.1
=T bl /N T PO /N 10878
im 0.11 0.11
50cm 0.10 0.1
=T EBAR |WBAR 108168
im 0.11 0.11
50cm 0.12 0.12
=T EBAR |[BEIXEFE20E 108228
1m 0.12 0.12
50cm 0.10 0.10
=T EBAR |[ERAE1aE 10A9H
1m 0.09 0.09
50cm 0.09 0.1
=T EFBARE (NI EE1AE 10898
im 0.09 0.11
50cm 0.08 0.08
% BMILS
1m 0.09 0.09
BT EBAR |ELE 104208 ]
50cm 0.10 0.10
W gk L35
1m 0.09 0.09
50cm 0.16 0.16
=T EBARE |[HEmTthXoEREE  |10R168
1m 0.15 0.15
50cm 0.12 0.12
=T EEAR |ARLUAE 10858
1m 0.13 0.12
50cm 0.12 0.13
=T EBEAR | AKLEDRAE 108148
1m 0.12 0.13

2/22



EERREMSHEE-4V VT HRE EHLAREFE 120)ER
($M2E10A28~10H 238 Ej#)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (1 Sv/h)
— NE S
FHETAT K4 NEEZH BZ | soom | (h-amOFHE) =
tm 5@ H11E
HEHER REMER
50cm 0.09
=T EBAR | EMEANE 1089A FE1NMEIEIEFICKYBIERT
1m 0.09
50cm 0.11 0.11
=T EBRAR |HE5hbhAOYLE 108198
im 0.11 0.11
50cm 0.07 0.08
=T BEAR |+RBaE 10858
1m 0.08 0.07
50cm 0.27 0.28
SROFTALFVY)
1m 0.26 0.27
50cm 0.27 SR (B 515 - 1A H)
im 0.26 F11EIZAERFN
BT BENE |ERWLAE 10468 ]
50cm 0.11 0.11
EnLoE
1m 0.11 0.11
50cm 0.12 0.1
K
im 0.11 0.11
50cm 0.11 0.10
=T HWEAR |FEEHLE 108128
1m 0.11 0.10
50cm 0.10 0.1
=T WEAR |EXFRLE 10878
1m 0.10 0.11
50cm 0.09 0.10
=T MWRAR |tEELE 1089A
1m 0.09 0.10
50cm 0.09 0.09
=T HWXAR |BHAEAR 108198
im 0.10 0.09
50cm 0.13 0.16
=T HMEAE |ER&K 10816H IEZ(ICLY2M A DFEYIE
1m 0.14 0.16
50cm 0.14 0.14
LULFLE CEDLE
1m 0.13 0.13
BT WMRAE | S =2PELE 10858 ]
50cm 0.07 0.08
% BMILS
1m 0.08 0.08
50cm 0.12 0.12
=T kx| EETHRH 108148
1m 0.12 0.12
50cm 0.10 0.09
=T TR | FE/RILERH 108208
im 0.10 0.09
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BERBRERNRE=S)T

RAEGEHLAREFF12EDHER
($M2E10A28~10H 238 Ej#)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BIESS | EFRERAEE (1 Sv/h)
. SE%
No. | ETH X% NEZT BE | soom | (hs-aBOFiE) e
m S0 £11@
RERR FERER
50cm 0.08 0.09
29 wem izt |FRIEBLE 10A16H
im 0.08 0.09
50cm 0.12 0.13
30 BT sk |R)IESHAE 108128
im 0.11 0.13
50cm 0.10 0.11
Frakis
im 0.10 0.11
31| @BWm | EMAE |EX,EXAEHAE | 10A6H e
50cm 0.09 0.10
Yuh—i5
im 0.09 0.10
50cm 0.10 0.11
32 wem s | ERATHRHE 10A16H
im 0.10 0.11
50cm 0.12 0.13
33 BT sk |RIBKAE 108138
im 0.12 0.13
50cm 0.12 0.10
34 wem Mkttt | KHET#FH 10A16H
im 0.11 0.11
50cm 0.11 0.12
AEFEAIO
im 0.11 0.12
50cm 0.11 0.10
NE R0
im 0.10 0.10
50cm 0.10 0.10
YNEaE 6
im 0.11 0.10
50cm 0.12 0.11
YNE L)
im 0.12 0.11
50cm 0.12 0.12
35 BT s |HFEKM 108158 NEFRO
im 0.12 0.12
50cm 0.11 0.11
YNE RO
im 0.11 0.11
50cm 0.12 0.11
AR/
im 0.11 0.11
50cm 0.12 0.12
NEEIR L)
im 0.12 0.12
50cm 0.11 0.11
YNEEIRLE)
im 0.11 0.11
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BERRE

EMSHRE=2)2 T

HEEHARSEE12E)ER
($M2E10A28~10H 238 Ej#)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (1 Sv/h)
— NE S
No. |  hETH K4 NEEZH BE | soom | (hs-aBOFiE) EE
m S0 £11@
FERFR REMER
50cm 0.15 0.16
% BRI
1m 0.15 0.16
50cm 0.10 0.1
KRERRY
1m 0.11 0.12
50cm 0.09 0.1 .
36 =T Mkt | TEEHLE 10878 IR—=o3 )75
1m 0.10 0.11
50cm 0.10 0.10
F—brR—ILi5
1m 0.10 0.10
50cm 0.09 0.09
59 k3 ILTE
1m 0.09 0.09
50cm 0.10 0.10
NE]
1m 0.09 0.09
37 =t sk |/ \iBRit 10A6H e
50cm 0.14 0.16
F—brR—ILi5
1m 0.14 0.14
50cm 0.10 0.12
38 =T Mkt |IEEHLE 108138
1m 0.10 0.12
50cm 0.09 0.10
39 =T Mkt |FKkrDESHLE 108128
1m 0.09 0.09
50cm 0.08 0.09
40 =T #Mikkih  |RE#KiH 1089A
1m 0.08 0.08
50cm 0.09 0.09
41 =T kit |RRXGEBLE 108138
1m 0.09 0.10
50cm 0.09 0.10
42 =T ikt | =AKGi 108128
1m 0.09 0.10
50cm 0.15 0.17
43 =T ERThARH | YR ATET R it 108168
1m 0.15 0.16
50cm 0.11 0.11
NEEIRL]
1m 0.11 0.11
50cm 0.10 0.10
44 [=1=T kx| ERKZH 10A78 AEPR
1m 0.10 0.10
50cm 0.11 0.11
NE[aR]
1m 0.10 0.11
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EERREMSRE=4U2YT
($M2E10A28~10H 238 Ej#)

RAEEHAREFEFE12E)HR

REFAKER
BERKE

* FAHR (B 5T #RYE)
* FAHR (RF 13D

RESE

ZERARETATEM (1 Sv/h)

LEF

No. | ThETH K4 INETL EE | soom | (p-aBBOFHMm =
m S0 £11@
FERFR REMER
50cm 0.12 0.12
45 =T kx| TwORRH 108168
1m 0.12 0.11
50cm 0.08 0.08
46 =T #Mfkith | IMAAERi 1089A
1m 0.09 0.09
50cm 0.14 0.20
47 =T Mkt | LNRESHLE 108148
1m 0.14 0.19
50cm 0.08 0.08
48 =T #Mikkih  |BEIRERATRRHE 1089A
1m 0.08 0.08
50cm 0.14 0.14
49 =T Mkt |[EEIXHE14E 10A22H
1m 0.14 0.14
50cm 0.09 0.09
50 =T #Mfkith  |E LR 108148
1m 0.09 0.09
50cm 0.14 0.14
51 =T Mkt | HSACERKLE 108228
1m 0.14 0.14
50cm 0.11 0.11
% BHILS
im 0.11 0.11
52 =t Mikxith |BIEFE2AE 10A22H e
50cm 0.09 0.09
W8
1m 0.09 0.09
50cm 0.12 0.1
53 =T Mkt |ESEHLE 1086H
1m 0.13 0.11
50cm 0.10 0.1
TF
1m 0.10 0.11
50cm 0.10 0.10
NELTE ()
1m 0.10 0.10
50cm 0.13 0.13
NELTE [
1m 0.12 0.13
54 =t #Mkxih  |FNEDOHAILE  |108208 e
50cm 0.12 0.12
AEPR
1m 0.12 0.12
50cm 0.11 0.11
AREAO
1m 0.11 0.11
50cm 0.13 0.13
NEE L)
1m 0.13 0.13
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BERBRERNRE=S)T

RAEGEHLAREFF12EDHER
($M2E10A28~10H 238 Ej#)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (1 Sv/h)
. NE S
No. |  hETH K4 NEEZH BE | soom | (hs-aBOFiE) EE
fm 5@ #11E
FERFR REMER
50cm 0.13 0.13
55 =T Mkt |FEHARE 108148
1m 0.13 0.13
50cm 0.10 0.1
56 =T Mkttt |F=50ELE 108198
1m 0.10 0.10
50cm 0.07 0.08
57 =T Mkt |EREZH 10A6H
1m 0.08 0.08
e~ s 50cm 0.09 0.09
= WS RILE S HLA
58 =T Bkt 10A16H
® im 0.09 0.09
50cm 0.18 0.19
59 =T R |aSvt0AIE 108148
1m 0.18 0.18
50cm 0.11 0.12
60 =T Mkt |ERZATATLE 108168
1m 0.11 0.12
50cm 0.09 0.10
61 BEm BBAR |BREREHAE 1085H
1m 0.09 0.09
50cm 0.11 0.09
62 BEm ABAR |BHMEBHLE 108138
1m 0.11 0.10
50cm 0.09 0.09
63 BEm RBAR (/LR 10A7H
1m 0.09 0.09
50cm 0.16 0.17
BAREET)T
1m 0.14 0.16
50cm 0.15 0.16
FREBEEIVT
1m 0.14 0.16
64 [-1=T AEBLE |[#RUAE 10A2H e
50cm 0.13 0.14
FREEETIVT
1m 0.13 0.13
50cm 0.19 0.21
HEAEZE/NBIUT
1m 0.18 0.19
50cm 0.10 0.1
65 E=1=hi HBELAR | KFRLLE 108138
1m 0.10 0.11
50cm 0.11 0.10
66 E=1=hi ABAR |REEGEHLE 10858
1m 0.11 0.10
50cm 0.10 0.10
67 E=1=hi ABAR |BELAR 1081580 it
1m 0.09 0.09
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EERREMSRE=4U2YT
($M2E10A28~10H 238 Ej#)

RAEEHAREFEFE12E)HR

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (1 Sv/h)
— NE S
No. |  hETH K4 NEEZH BE | soom | (hs-aBOFiE) EE
tm 5@ H11E
FERFR REMER
50cm 0.11 0.11
<5
1m 0.11 0.11
67 BT RBLE |BESLAE 10A 158 Sy
50cm 0.12 0.12
Z/FIBE
im 0.11 0.11
50cm 0.09 0.09
68 =T HEAR |HRLE 108198
1m 0.09 0.09
50cm 0.07 0.07
69 =T #HEAR |RHLE 108198
1m 0.07 0.07
50cm 0.08 0.09
70 =T #HEAR |EXBLR 10878
1m 0.08 0.09
50cm 0.09 0.10
71 =T HELAR | KHFRLE 108138
1m 0.09 0.09
50cm 0.17 0.17
72 =T #HEAR |RFiIaE 108198
1m 0.17 0.17
50cm 0.10 0.09
73 =T #HEAR |EXRAR 1086H
1m 0.09 0.09
50cm 0.11 0.10
74 =T #HEAR |EBRoE 10858
1m 0.11 0.10
50cm 0.10 0.10
75 =T HEAR |HiEAE 108128
1m 0.10 0.10
50cm 0.09 0.09
76 =T #HELAR |FEELLE 108128
1m 0.09 0.09
50cm 0.13 0.12
77 E=1=hi HEAR |hEaE 10858
1m 0.13 0.11
50cm 0.11 0.11
78 =T HERAR |FIALE 108148
1m 0.11 0.11
50cm 0.09 0.09
79 =T HEAR |EXHF12E 10878
1m 0.09 0.09
50cm 0.09 0.10
80 =T #HEAR |EXF20E 10A6H
1m 0.09 0.10
50cm 0.09 0.09
81 =T HEAR |EXHEILE 1086H
1m 0.11 0.10
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BERBRERNRE=S)T

($M2E10A28~10H 238 Ej#)

RAEEHAREFEFE12E)HR

FF DK ER bt F AL (REHRID)
BERKEXMRAL (RFHI)
BESS | ZHRERAEE (1 Sv/h)
— NE S
No. |  hETH K4 NEEZH BE | soom | (hs-aBOFiE) EE
tm 5@ H11E
FERFR REMER
50cm 0.10 0.1
82 =T #HERAR (AR 10H168
1m 0.11 0.11
50cm 0.11 0.11
83 =T HRAR |BRoE 108168
im 0.11 0.11
50cm 0.09 0.09
84 =T #HEAR |NEHAR 1085H
1m 0.09 0.09
50cm 0.10 0.10
85 =T HERAR |SRLE 108138
im 0.10 0.10
50cm 0.08 0.09
86 =T #HEAR |HBAE 108138
1m 0.08 0.08
50cm 0.09 0.09
87 =T HEAR |K#aE 108138
1m 0.09 0.09
50cm 0.11 0.11
88 =T HERAR |MALE 108198
im 0.12 0.12
50cm 0.09 0.09
89 =T #HEAR |HREAR 108198
1m 0.09 0.09
50cm 0.09 0.09
90 =T #HEAR |AREAR 108208
1m 0.09 0.08
50cm 0.15 0.15
91 =T HEAR |[HELU~E 108198
1m 0.15 0.15
50cm 0.08 0.08
92 =T HEAR |RAZXHRAE 108228
1m 0.08 0.08
50cm 0.09 0.09
93 =T #HEAE |AAZXILE 108228
1m 0.09 0.09
50cm 0.11 0.11
94 =T #HEXAER |[RX2E 10198
1m 0.11 0.11
50cm 0.12 0.12
95 =T HERAR |EioBE 108158
1m 0.12 0.12
50cm 0.08 0.08
96 =T HEAR |REFE14E 108208
1m 0.08 0.08
50cm 0.08 0.08
97 =T HEAR |HEFE20E 10H20H
1m 0.08 0.08

9/22




EERREMSRE=4U2YT
($M2E10A28~10H 238 Ej#)

RAEEHAREFEFE12E)HR

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (1 Sv/h)
. NE S
No. |  FBrH =5 NEERF BZ | soom | (h-amOFHE) %
m S0 £11@
FERFR REMER
50cm 0.08 0.08
98 BEm HERAR |HEEILE 108208
1m 0.07 0.07
50cm 0.08 0.08
99 BEm HEAR |HEFELILE 10/ 208
1m 0.08 0.08
50cm 0.09 0.08
100 =T #HEAR |RRAE 108138
1m 0.08 0.09
50cm 0.12 0.1
101 =T #HELAR |REAR 10878
1m 0.12 0.12
50cm 0.10 0.1
102 =T HERAR |EHRLE 10878
1m 0.10 0.11
50cm 0.10 0.10
103 =T #HEAR |EHAR 10878
1m 0.10 0.11
50cm 0.09 0.10
104 BEm #HEAR |EEcE 10878
1m 0.09 0.10
50cm 0.10 0.1
105 BEm #HEAR |XIEFLE 108198
im 0.11 0.11
50cm 0.09 0.09
106 =T HERAR |stALE 108158
1m 0.09 0.09
50cm 0.10 0.10
107 E=1=hi HEAR |BAXETAE 108168
1m 0.10 0.10
50cm 0.15
108 BEm #HELAR |ARAE 1086R F11EIEITEZICKYRERT]
im 0.15
50cm 0.08 0.08
109 E=1=hi HEAR |BEFEAR 108138
1m 0.09 0.09
50cm 0.25 0.26
110 =T HELAR |[EXRLUFHEOHZRLE 1086H
1m 0.24 0.25
50cm 0.08 0.08
11 E=1=hi #HEAR |HHoE 108158
1m 0.09 0.09
50cm 0.11 0.12
112 =T #HEAR |BERIBRKLE 108148
1m 0.11 0.12
50cm 0.12 0.13
13 BEm HELAR |HhhiLE 1086H
1m 0.12 0.12
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EERREMSRE=4U2YT
($M2E10A28~10H 238 Ej#)

RAEEHAREFEFE12E)HR

FF DK ER bt F AL (REHRID)
BERKEXMRAL (RFHI)
BESS | ZHRERAEE (1 Sv/h)
— NE S
No. |  hETH K4 NEEZH BE | soom | (hs-aBOFiE) EE
tm 5@ #11E
FERFR REMER
50cm 0.11 0.11
114 E=1=hi #HEAR |REAR 108168
1m 0.11 0.11
50cm 0.09 0.09
115 =T HELAR |—ARE 108168
im 0.10 0.10
50cm 0.11 0.11
116 BEm HEAR |[BALE 108168
im 0.11 0.11
50cm 0.07 0.07
117 BEm #HEAR |[EmeFE22E 10A9H
1m 0.07 0.07
50cm 0.11 0.11
118 BEm HEAR |EMAEI3LE 1089A
1m 0.11 0.11
50cm 0.09 0.10
119 BEm HEAR |[EAeHE4LE 10A9H
1m 0.10 0.10
50cm 0.09 0.10
120 BEm #HELAR |HSUvELE 1089A
1m 0.09 0.09
50cm 0.10 0.10
121 BEm #HEAR |AOWmEHE1LE 108168
im 0.10 0.10
50cm 0.11 0.11
122 BEm #HELAE |AowmeE20HE 108238
1m 0.11 0.11
50cm 0.09 0.10
123 E=1=hi HEAR |EARAE 1089A
1m 0.09 0.10
50cm 0.09 0.09
124 =T HELAR |[EBEXRFILE 1089A
1m 0.08 0.09
50cm 0.09 0.09
125 E=1=hi #HEAR |HiLaE 1089A
1m 0.09 0.09
50cm 0.13 0.13
126 =T #HELAR |[EESNBHLV/I—Y 108128
1m 0.12 0.12
50cm 0.19 0.19
127 E=1=hi HRAR |FHET#HFi 108198
1m 0.19 0.20
50cm 0.13 0.12
128 BEm HERAR |EBsnbHLAE 1089A
1m 0.13 0.12
50cm 0.09 0.09
129 E=1=hi #HEAR |REAR 108198
im 0.10 0.10
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EERREMSHEE-4V VT HRE EHLAREFE 120)ER
($M2E10A28~10H 238 Ej#)

BFhRE
BBR

B hxd SRAER (RUETHRYE)
KEXF A (RFHYD

BESS | ZHRERAEE (1 Sv/h)
— NE S
No. |  hETH K4 NEEZH BE | soom | (hs-aBOFiE) EE
m S0 £11@
HEHER REMER
50cm 0.09 0.09
130 BEm HRAR |27 EXRM1SLE 1086H
1m 0.09 0.10
50cm 0.10 0.10
131 BEm HERAR |2V EXRE2ELE 1086H
1m 0.10 0.09
50cm 0.14 0.13
132 BEm HERAR |FBKIELZOMAE 108128
1m 0.14 0.14
- 50cm 0.16 0.16
= - BKIEFEZOEELERN
133 | EE® HRAE |27 108198
. im 0.15 0.15
50cm 0.14 0.16
134 E=1=hi HELAER |LOSHLARE 108198
1m 0.13 0.16
50cm 0.11 0.11
135 [=1=T HEAE |[WNIEE20E 10898
1m 0.10 0.11
50cm 0.10 0.10
136 BEm HERAR |FYALE 108208
1m 0.10 0.10
50cm 0.08 0.07
137 BEm #HELAE |LOSAEFE1ILE 108198
1m 0.08 0.07
50cm 0.07 0.07
138 BEm HELAE |LOSEFE20E 108198
1m 0.07 0.07
50cm 0.07 0.06
139 BEm HELAE |LOSAEEILE 108198
1m 0.07 0.07
50cm 0.07 0.07
140 BEm HELAE |LOSAEFEILNE 108198
1m 0.07 0.07
50cm 0.07 0.07
141 BEm HELAE |LOSESESAE 108198
1m 0.07 0.06
50cm 0.07 0.06
142 BEm HELAE |LOSEFELE 108198
1m 0.07 0.06
50cm 0.10 0.10
- " HRR=2—592 150
143 =T HELAE 10A19H
. im 0.10 0.10
50cm 0.10 0.10
- " HLRR=2—592 250
144 =T HELE 10A13H
= im 0.09 0.09
50cm 0.09 0.09
- " HLRR=2—592 3540
145 =T HELAE 10A19H
= im 0.09 0.09
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EERREMSRE=4U2YT
($M2E10A28~10H 238 Ej#)

RAEEHAREFEFE12E)HR

FF DK ER bt F AL (REHRID)
BERKEXMRAL (RFHI)
BESS | ZHRERAEE (1 Sv/h)
. NE S
No. |  FBrH =5 NEERF BZ | soom | (h-amOFHE) %
m S0 £11@
FERFR REMER
50cm 0.07 0.07
146 BEm #HEXLAR |EERIEFE12E 10A 228
1m 0.07 0.07
50cm 0.07 0.07
147 BEm #HXLR |EERIEFE20E 10/ 228
1m 0.07 0.07
50cm 0.07 0.07
148 BEm HEAR | KFHLR 108138
1m 0.07 0.07
50cm 0.10 0.1
149 =T #HEAR |fRiEaE 10858
1m 0.11 0.10
50cm 0.13 0.12
150 BEm #HELAR |FEBEFEK2E 10858
1m 0.12 0.12
50cm 0.10 0.10
151 BEm HEAR |BthERERAR 108148
1m 0.10 0.10
50cm 0.09 0.09
152 BEm HRAR |FBKELE 108138
1m 0.09 0.09
50cm 0.13 0.14
153 =T #HEAR |FREAR 108148
1m 0.13 0.14
50cm 0.10 0.1
154 =T HRAR |VKEYAE 108148
1m 0.10 0.10
50cm 0.09 0.09
155 BEm HEAR |EHE14E 1089A
1m 0.09 0.09
50cm 0.08 0.08
156 E=1=hi #HEAR |BERAE 108148
1m 0.07 0.08
50cm 0.10 0.10
157 BEm HEAR |[T5FALE 108148
1m 0.10 0.10
50cm 0.10 0.1
158 E=1=hi #HEAR |N\TEREGLE 1089A
1m 0.09 0.10
50cm 0.13 0.13
159 BEm HRAR |UbhA54E 10A 138
1m 0.13 0.13
50cm 0.12 0.13
160 BEm HRAR |EBEILE 1089A
1m 0.12 0.13
50cm 0.08 0.07
161 E=1=hi #HEAR |FHHLE 108198
1m 0.08 0.07
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BERBRERNRE=S)T

RAEGEHLAREFF12EDHER
($M2E10A28~10H 238 Ej#)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (1 Sv/h)
- NE S

No. | ThETH K4 INETL BZ | soom | (h-amOFHE) =

m S0 £11@

FERFR REMER
50cm 0.10 0.10
ek (e

1m 0.10 0.09
162 | BBM | @HRAE |HRALAHE 108128 —

50cm 0.10 0.09

RAILRES

1m 0.11 0.10

50cm 0.13 0.15
163 =T HRAR |TALARE 108168

1m 0.13 0.15

50cm 0.12 0.12
164 BEm #HEAR |BREAR 10858

1m 0.12 0.12

50cm 0.08 0.08
165 BEm HEAR |#HELoE 108148

1m 0.08 0.08

50cm 0.08 0.08
166 =T HEAR |[RdaE 108138

1m 0.08 0.08

50cm 0.09 0.09
167 BEm HEAR |EaoE 10A7H

1m 0.08 0.08

50cm 0.09 0.09
168 =T #HEAR |mEHAR 10878

1m 0.09 0.09

50cm 0.10 0.1
169 BEm #HEAR |HELE 10878

1m 0.10 0.10

50cm 0.09 0.10
170 E=1=hi HEAR |BokaE 10878

1m 0.09 0.09

50cm 0.08 0.08
171 E=1=hi #HEAR |FLRBARE 108148

1m 0.08 0.08

50cm 0.11 0.10
172 =T #HEAR |ERAE 108148

1m 0.10 0.10

50cm 0.10 0.10
173 E=1=hi #HERAR [BLoABRGE=—AR) 10A 148

1m 0.10 0.10

50cm 0.07 0.07
174 E=1=hi #HRXAR |(ZFeE 10A 158

1m 0.08 0.08

50cm 0.09 0.09
175 E=1=hi #HRXAR |N\aoE 10A 158

1m 0.09 0.09

50cm 0.09 0.10
176 [=1=T HEAE |AEAR 108158

1m 0.09 0.09
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EERREMSHEE-4V VT HRE EHLAREFE 120)ER
($M2E10A28~10H 238 Ej#)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (1 Sv/h)
— NE S
No. |  hETH K4 NEEZH BE | soom | (hs-aBOFiE) EE
m S0 £11@
FERFR REMER
50cm 0.08 0.08
177 BEm HEAR |/ ALE 108138
1m 0.08 0.08
50cm 0.09 0.09
178 =T HELAR |[ShFE-ELE 10858
1m 0.10 0.10
50cm 0.18 0.18
179 =T 2B ERILEH 1086H
1m 0.18 0.18
50cm 0.12 0.12
180 BEm 2B FLER 108228
1m 0.12 0.12
50cm 0.10 0.1
181 =T & EXKZE 10A6H
1m 0.10 0.10
50cm 0.11 0.11
UNELT]]
1m 0.11 0.11
182 wmem & FHFEE 108138 e e
50cm 0.11 0.11
NEiR]
im 0.11 0.11
50cm 0.09 0.09
183 =T & A O&HEzkE 10A16H
1m 0.09 0.09
50cm 0.07 0.07
FE1ETEIS
1m 0.07 0.07
50cm 0.08 0.07
FE2ETEHIL
1m 0.07 0.07
184 wmem 0t |mEDOER 10828 e e
50cm 0.07 0.07
E3ETEIL
1m 0.07 0.06
50cm 0.09 0.08
NE|
1m 0.09 0.09
50cm 0.10 0.10
185 E=1=hi HERAR |E+ZERAR 108148
1m 0.10 0.10
50cm 0.11 0.11
186 BEm HERAR |HEF20E 108208
1m 0.10 0.11
50cm 0.07 0.07
187 BEm #HEAE |LE£E3IELE 108228
1m 0.07 0.07
50cm 0.15 0.14
188 | —A&{th #HEAR |EE2E 10A7H
1m 0.14 0.13
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EERREMSHEE-4V VT HRE EHLAREFE 120)ER
($M2E10A28~10H 238 Ej#)

BFhRE
BBR

B hxd SRAER (RUETHRYE)
KEXF A (RFHYD

BIESS | ZHBRERAEE (1 Sv/h)
. SE%
No. |  mET# R4 INCEZR BE | soom | (hs-aBOFiE) o
m S0 £11@
RERER RERR
50cm 0.12 0.12
189 ZARWTH HEAR |HRFEREEEK 10A9H
im 0.12 0.12
50cm 0.13 0.12
190 | AT HEAE |ES505IK 10A7H
im 0.12 0.12
50cm 0.16 0.18
191 ZARWTH #HELAR |FEREEE 10A9H
im 0.16 0.17
50cm 0.12 0.13
192 | AT #HEAE |TILEAA#RERVE | 10878
im 0.12 0.12
50cm 017 0.17
193 ZARWTH #HEAR |£BARLE 10A6H
im 0.18 0.17
50cm 0.12 0.11
194 | =& #HRAE |2EAH 10A6H
im 0.11 0.11
50cm 0.15 0.15
195 ZARWTH #HEAR |mEAE 10A7H
im 0.14 0.14
50cm 0.08 0.09
196 | AT HELE |HOFLE 10A 148
im 0.08 0.08
50cm 0.13 0.13
197 ZARWTH #HERAR |RAEXE 10A 148
im 0.12 0.12
50cm 0.16 0.15
198 | =& HRAE | AETHM 10A78
im 0.16 0.15
50cm 0.12 0.14
199 ZARWTH #HEAR |#HEMB/ ARt 10A 128
im 0.13 0.14
50cm 0.1 0.13
200 ZARWTH HEAR |(REEtAE 10A 128
im 0.12 0.13
50cm 0.12 0.12
201 ZARWTH #HEAE |ER=a—4Y H#AE| 10A98
im 0.11 0.11
50cm 0.14 0.15
202 ZARWTH #HEAR |MHERMKRTYN =S 10A7H
im 0.13 0.14
50cm 0.14 0.16
203 | AW #HRAE |FEAMLE 10A12H
im 0.13 0.15
50cm 0.13 0.13
204 | AT HELE |ARTRTIYNI—S 10A78
1m 0.12 0.12
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BERBRERFRE=F) 7RAE@EHHAEEE12ME) HFR

($M2E10A28~10H 238 Ej#)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

RESE

ZERARETATEM (1 Sv/h)

LEF

No. | ThETH K4 INFEZ R EE | soom | (p-aBBOFHMm =
m S0 £11@
FERFR REMER
50cm 0.14 0.15
205 | AT HEAR |FEEN 10A 148
1m 0.14 0.15
50cm 0.17 0.17
206 ZARW #HERAR |RiEE2 108148
1m 0.17 0.17
50cm 0.12 0.12
207 | AT HEAE |HENAE 10A9H
1m 0.12 0.12
50cm 0.23 0.26
208 | AW #HELAR |TERELE 10A 138
1m 0.22 0.23
50cm 0.11 0.11
fEERSYD
1m 0.11 0.11
50cm 0.13 0.13
NE]
1m 0.13 0.13
209 | AT | AVM-n-) BV —8—5E5h 108138 e
50cm 0.10 0.1
VIR—)Li5
1m 0.10 0.10
50cm 0.12 0.13
BEkiG
1m 0.12 0.12
50cm 0.12 0.12
210 | AW EBRAR |RECRAR 10A7H
1m 0.12 0.12
50cm 0.15 0.17
211 ZARWTH EREAR |BRAE 10A9H
1m 0.15 0.16
50cm 0.09 0.10
212 ZARWTH ERAR BB 10A814H
1m 0.09 0.10
50cm 0.14 0.16
213 | ZAWTH AEHAE |BRWUAE 108138
1m 0.14 0.15
50cm 0.09 0.10
214 | ZAWTH FEHAE |RESRSDSENAE | 10878
1m 0.09 0.10
50cm 010 010 e - kYaH -Ed)EFi’zj
215 | —AME | ERAE |#rham 108148 EIERTEZE) 4t
1m 0.10 0.10
50cm 0.23 0.21
BEE-FALEDZEL
1m 0.21 0.23
216 | AT EBAR |BEFOHLE 10A9H S
50cm 0.19 0.19
IREERR-bAL
1m 0.19 0.18
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EERREMSRE=4U2YT
($M2E10A28~10H 238 Ej#)

RAEEHAREFEFE12E)HR

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (1 Sv/h)
- NE S
No. | ThETH K4 INETL BZ | soom | (h-amOFHE) =
m S0 £11@
FERFR REMER
50cm 0.12 0.13
217 | ZAWTH bli /N ES =P /NES| 108138
1m 0.12 0.12
50cm 0.16 0.17
218 | AW HRELR |SrHeR 10A9H
1m 0.16 0.17
50cm 0.14 0.14
219 | AW MR | EIS LR 10A12H
1m 0.14 0.14
50cm 0.17 0.16
220 | AW #HEAR |BERTYNI—Y 10A7H
1m 0.16 0.15
50cm 0.22 0.23
221 ZARWTH HELAR |BEHRKLE 10A6H
1m 0.19 0.19
50cm 0.09 0.10
222 | AW #HERAR |RE2E 108138
1m 0.09 0.09
50cm 0.08 0.08
223 FET HEAR |HETAR 1082AR
1m 0.08 0.08
50cm 0.21 0.21
224 FET #HEAR |REAE 10A2H
1m 0.20 0.20
50cm 0.11 0.11
225 FET #HEAR |ARLE 1082AR
1m 0.10 0.10
50cm 0.10 0.10
226 FET HERAR |AWLaE 1082AR
1m 0.10 0.10
50cm 0.08 0.08 .
227 REH HBELR |[REKESLE 1082AR KFZHDL5
1m 0.08 0.08
50cm 0.14 0.15
Z2BMT IR
1m 0.14 0.14
50cm 0.19 0.19
Z2BMI S IUREEEE
1m 0.19 0.19
50cm 0.13 0.1 X
228 AXETH EHNE |AEEHLE 108128 AELEELEIG
1m 0.12 0.14
50cm 0.12 0.12
T=AXOa—HM1
1m 0.12 0.13
50cm 0.13 0.14
TROa—F2
1m 0.13 0.13

18/22




EERREMSHEE-4V VT HRE EHLAREFE 120)ER
($M2E10A28~10H 238 Ej#)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (1 Sv/h)
g NETES
No. | ThETH K4 INETL BZ | soom | (h-amOFHE) =
m S0 £11@
FERFR RERR
50cm 0.09 0.10
FT=R3—hk3(F—rR—ILA)
1m 0.09 0.10
228 AETH EFAE |[AEEHLE 10A128 S
50cm 0.25 0.30
HAEDR-ILETELS
1m 0.26 0.30
50cm 0.08 0.08
BEkiG
1m 0.08 0.08
50cm 0.10 0.10 .
229 XETH EEAR |LosahTU—2i—4 10A6H HEEE
1m 0.10 0.10
50cm 0.29 0.30
KEEEHI
1m 0.27 0.27
50cm 0.16 0.17
230 XETH #HEAR |FXR2E 10A2H
1m 0.16 0.16
50cm 0.18 0.20
=Rl e ]
1m 0.17 0.19
231 | AEM HRAE |TEUAE 10A2H —
50cm 0.12 0.12
BIREAL S
1m 0.12 0.12
50cm 0.14 0.14
232 XETH #HEAR |FaA2E 10A2H
1m 0.13 0.13
50cm 0.16 0.16
233 XETH #HEAR |HFL2E 10A5H
1m 0.16 0.16
50cm 0.19 0.19
234 XETH #HERAR |BHFELE 10A5H
1m 0.18 0.18
50cm 0.11 0.11
235 AEM HELAR |ATENEFEILE 10828
1m 0.11 0.10
50cm 0.12 0.12
236 AEM HELAR |ATENEFE20E 10828
1m 0.11 0.12
50cm 0.12 0.1
237 AEM #HEAR |RETEAR 10828
im 0.12 0.11
50cm 0.13 0.13
238 XETHh EBRAR |#TVALE 10A2H
1m 0.12 0.13
50cm 0.45 0.48
239 AEM EBRAR |BARFNCE 10A6H SnHWL LG
1m 0.40 0.43
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EERREMSHEE-4V VT HRE EHLAREFE 120)ER
($M2E10A28~10H 238 Ej#)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (1 Sv/h)
- NETES
No. | ThETH K4 INETL BZ | soom | (h-amOFHE) =
m S0 £11@
FERFR RERR
50cm 0.20 0.20
EfEi5
1m 0.20 0.20
50cm 0.21 0.21
WILD RS
im 0.22 0.21
239 AEMH EHAE |AARNAE 10A6H e
50cm 0.49 0.46
BERLS
1m 0.45 0.45
50cm 0.37 0.39 (5B H RILIGRER
EARICEYIhEDHAIE (FE11
im 0.38 0.40|EHFE#)
50cm 0.09 0.09
240 AEM HWEAE |ERaR 10A28
1m 0.09 0.09
50cm 0.19 0.19
JLETES
1m 0.18 0.18
50cm 0.13 0.1
241 AEM HWEAR |SRAsnHULIES 10A5H BEDLi5
1m 0.12 0.12
50cm 0.33 0.31
gELE
1m 0.30 0.30
50cm 0.15 0.15
izpl:]
1m 0.15 0.14
50cm 0.13 0.13
242 AEM & RE#E 10A5H R
1m 0.13 0.12
50cm 0.12 0.1
A
1m 0.12 0.11
50cm 0.10 0.10
243 SITHT #HELAR |BERRELE 10828
1m 0.10 0.10
50cm 0.16 0.16
244 S ATET #HEAR |FMETRELE 10828
1m 0.16 0.16
50cm 0.19 0.20
245 S ATET HEAR |BEAHAR 10A2H
1m 0.18 0.19
50cm 0.12 0.12
246 3] #HELAR |EE5HLE 10828
1m 0.12 0.12
50cm 0.13 0.13
247 SZATET #HERAR (=20 8E AR 10A2H
1m 0.13 0.13

20/22




EERREMSHEE-4V VT HRE EHLAREFE 120)ER
($M2E10A28~10H 238 Ej#)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (1 Sv/h)
. NE S
No. |  hETH K4 NEEZH BE | soom | (hs-aBOFiE) EE
m S0 £11@
FERFR REMER
50cm 0.12 0.12
248 SATET HELAR |[22LrEERAARE 10A5H
1m 0.11 0.11
50cm 0.14 0.14
249 SI7HT BER |dES KR 10858
1m 0.13 0.13
50cm 0.16 0.16
250 S ATET EBRAR |EEOHRLE 10858
1m 0.15 0.15
50cm 0.08 0.08
251 SITHT oM  |BERESLE 10858
1m 0.07 0.07
50cm 0.17 0.17
252 JIHRET HEAR |ShbLRTykii—o 10A20H
1m 0.16 0.17
50cm 0.11 0.11
253 JIMRET ot |HEEAR 108208
1m 0.11 0.11
50cm 0.18 0.18
FAESLIES
1m 0.19 0.19
254 JIMRET HRERE |hRAE 10H20H e
50cm 0.17 0.17
LU>FLi5
1m 0.17 0.17
50cm 0.15 0.14
ECA—t 48—
1m 0.13 0.13
50cm 0.09 0.09
I BR—IN—4
1m 0.09 0.08
50cm 0.10 0.09
HERN—5—
1m 0.09 0.08
50cm 0.11 0.11
YTI5/4b\IRB
. im 0.10 0.10
BROFZHTALAMN =Y ]
255 XEH BROH 2 10A 158
BI1=5) 500m 0.13 0.12
HTSMhNIRC
1m 0.11 0.11
50cm 0.10 0.10
YT54b\IRD
1m 0.10 0.10
50cm 0.13 0.12
YTS4MINDIRE
1m 0.12 0.12
50cm 0.15 0.16
AR)—Lx—4
1m 0.15 0.14
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EERREMSHEE-4V VT HRE EHLAREFE 120)ER
($M2E10A28~10H 238 Ej#)

[RF ALK EBR et HAER (RSTHRYEL)
BERKE SRR (RFHID

BESS | ZHRERAEE (1 Sv/h)
— NE S
No. |  mET# R4 INCEZR BE | soom | (hs-aBOFiE) o
m S0 £11@
HEHER REMER
50cm 0.14 0.14
FyX/—4H
1m 0.13 0.13
50cm 0.11 0.11
108158 HTSAMNDRF
1m 0.11 0.10
50cm 0.09 0.09
Fy—HAh
1m 0.09 0.09
50cm 0.07 0.07
E1L5
1m 0.07 0.07
50cm 0.08 0.08
ATV —
1m 0.08 0.07
. 50cm 0.08 0.08
2% | KEH | RROF [FEOSOFLANTY H3T7A—
=1= 1m 0.08 0.08
50cm 0.07 0.07
F2T7( YV —
1m 0.08 0.07
108168 e
50cm 0.07 0.07
EYN ]
1im 0.07 0.06
50cm 0.08 0.08
FT1IT7(V—
1m 0.08 0.08
50cm 0.13 0.13
ZHENE
1m 0.12 0.13
50cm 0.09 0.10 _
aF—o
1m 0.09 0.09

¥ MEEREHRIEE. FMTFOA24HAL10A10BICHELENEBRREERSRE=S)JRE@HHLABFE 1R IICHTHHERR.

22/22



